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Guess Paper – 2011
Class – XII
Subject – Chemistry

          TIME-3hrs                            







MM- 70   
           Instructions:-

1. All questions are compulsory. However, internal choices are given.

2. Question numbers 1 to 8 carry 1 mark each.

3.  Question numbers 9 to 18 carry 2 marks each.

4. Question numbers 19 to 27 carry 3 marks each.

5. Question numbers 28 to 30 carry 5 marks each.

  1. What is the effect of Schottky defects on the electrical conductance of a crystalline solid? [1]

2. A gaseous hypothetical chemical reaction 2A═ 4 B + C is carried out in a closed vessel.   
The concentration of B is found to increase by 5 X 10 –3 mol/ lt.in 10 secs. Calculate the

 rate of disappearance of A.                                                                                         [1]     
3.    Write IUPAC names of the following compound:                                                    [1]

CH3---CH---- C—CH2 ---CH—CH3
[image: image1.png]                       ║    
4.            CH3       O                          Br  
5. What is the coordination number of a crystal having hcp structure?                          [1]

6. Write two differences between order and molecularity of a reaction.                          [1]

7. Which of the following pair will react faster towards nucleophillic substitution reaction :

CH2═CH           Cl and    CH2═CH ─CH2Cl                                                         [1]

8. In the test of Cl -- , K2Cr2O7 (solid) and concentrated H2SO4 is added. A reddish brown vapour

is obtained  as X. Identify  X.                                                                                        [1]

9. What is meant by inversion of sugar?                                                                           [1]

  9.   Derive the packing efficiency of a crystal having Body Centered Cubic structure.     [2]                           

10.  Complete the e.m.f of the following cell :                                                                     [2]

At 298K, Sn(s)│Sn+2 (.05mole/lt)║H+ (0.02 mole/lt)│H2(1atm).Pt  : E0Sn+2/Sn= -- 0.136V

11. a) Why does entropy decrease in adsorption?                                                                [2]

b)How adsorption varies with pressure and temperature separately?  

12.  a)  What is the origin of charge on colloidal solution?                                                  [2]
b)  Write a short note on shape selective catalyst.                                                          
 13.  a) Why does PCl3 fumes in moist air ?                                                                           [2]

        b)  Bi +3 is more stable than Bi +5  but phosphorus not?

                            OR

a) NO2 dimerises but not NO – explain.

b) Draw the shapes of ClF3 and XeOF2 .

14. Arrange the following in order of acidic character giving reason:                                  [2]

HCOOH , ClCH2COOH , CF3COOH , C6H5COOH

15 a) How will you convert toluene to m-nitro benzoic acid?                                            [2]

b)How would you distinguish between phenol and benzyl alcohol ?

16.. Complete and balance the following equations :                                                            [2]

i) HNO3 + P4O10                            

ii) IO3 --  + I--  + H+                           

17.  Identify A and B in each of the following sequence:                                                  [2]

                                                   HBr               KOH (aq)

i) CH3─CH2─CH═CH2                           A                           B

                                          Peroxide
                     NaNO2+HBF4                    NaNO2       

ii) C6H5NH2                                    A                                   B

                        0—5oC                          Cu

18.  Give the mechanism of preparation of ethoxy ethane from ethanol.                            [2]

19.a)The resistance of 0.01 M Acetic acid solution when measured in a conductivity cell

      of cell constant 0.366 cm—1 , is found to be 2220 Ω.Calculate degree of dissociation

      of acetic acid at this concentration. Given that the values of λΦH+ and λΦCH3COO—
      are 349.1 and 40.9  Ω.—1cm2 mol –1 respectively.                                                      [3]       
20 a)   The value of ∆f Gө for formation of Cr2O3 is – 540 kJ/mol and that of Al2O3 is     [3]
           -- 827 kJ /mol .Is the reduction of Al2O3 possible with Cr?
  b)   Write short note on froth floatation process.
 21.a) What is meant by chelation ? How is it related to stability of coordination complex?
      b)  Draw figure to show splitting of degenerated d-orbital in an tetrahedral crystal field.
      c)  Write formula for Potassiumtris(oxalate)ferrate(III).                                              [3]

22. A first order reaction is 50% complete in 36 minutes at 300K.The same is 50% complete in 
        9 minutes at 350 K, Calculate the activation energy.                                               [3]                                                       
                                           OR

          For  the reaction ,                                                                                                                                 
          2 N2O5(g)  ═   4NO2(g)  +  O2 (g).                                                                            [3]
	Sl no
	Time /sec
	Total pressure

	1.  

2.
	0

100
	0.5 atm
0.512 atm


           Calculate the rate constant.
23. a) Interhalogen compounds are highly reactive than halogens – explain.                    [3]                                                                              
     b) Complete the following reaction:-

          XeF4 + H2O                            

    c). Write two uses of ClO2.

   24.  a)  Why do primary amines have higher boiling points tertiary amines?                        [3]

         b)  Write a short note on coupling reaction.                                                                                

      c)  Though aniline is ortho and para orienting, yet a substantial amount of meta product is  
          obtained during nitration. Explain.  

   25. a) Name the deficiency disease due to vitamin C                                                            [3]                 

      b) Name one anionic detergent and its use.
      c) Name one drug which is used in controlling depression and hypertension. 

26. a) Write structural differences between DNA and RNA. Write down the structure of a
             Nucleotide.

     b)  What is meant by denaturizing of proteins?
     c) Which forces are responsible for the stability of α-helix? Why it is named as 3.613helix?
                                                    OR

Write short notes on the following

Isoelectric point. b) t-RNA, c) Cyclic structures of glucose and fructose.

27 a) What is the difference between thermoplastic and thermosetting polymers?               [3]

     b) What are biodegradable polymers? Give an example of it.

     c) Write the monomers of nylon-66.

28. a) How deviations are observed in solutions ?                                                                  [5]

      b) Two liquids X and Y boil at 1100C  and 1300C respectively. Which of them has higher 

            vapor pressure at 500C ?

c)  When 30 ml of ethanol is mixed with 30 ml of water, the volume of the solution becomes 

    more than 60 ml. Explain it.

 d)  45 gm of C2H6O2 is mixed with 600 gm of water .Calculate freezing point of solution  
         Given that Kf = 1.86 K/m. (atomic mass of C=12u, H=1u and O=16u)

                                                     OR

     a) Which will have higher vapor pressure 1M NaOH or 1M glucose?                          [5]
     b)  An antifreeze solution is prepared from 222.6 gm of ethylene glycol [C2H4(OH)2] and 

            200 gmof water .Calculate the molality of the solution.

          If the density of this solution be 1.072gm/ml , what will be the molarity of the solution?

     c)  In the determination of molar mass of A+B—using a colligative property, what may be the 

           value of Van,t Hoff factor if the solute is 50% dissociated ?

29.   Account for the following; -                                                                                           [5]

        i) Transition metals form interstitial compounds.

       ii) The second and third transition series have almost similar atomic radii.

       iii) Actinide contraction is much more than lanthanide contraction.
       iv) The radius of Fe+2(atomic number=26) is less than Mn+2 ( Mn=25)

v)   A transition metal exhibits higher oxidation states in oxides and fluorides.
                                                    OR

       a) Complete the following:-

             i) Cr2O7 2-- + Sn 2+ + H +                                                                                        [5]
            ii) MnO4 -- +Fe +2 + H +
       b) Lu(OH)3 is a weaker base than La(OH)3 . Explain.
       c)  Why do actinides, in general, exhibit a greater range of oxidation states than the  

             Lanthanides? 

        d)  Write the two causes of lanthanide contraction.

30.   a) Write short notes on i) Woolf-Kishner reduction, ii) Cannizaro reaction, iii) Stephens  

             reaction.                                                                                                                 [5]
       b)  Distinguish between the following pairs with the help of suitable chemical test:
             i) Acetone and Benzophenone, ii) Formaldehyde and acetaldehyde.                                 

                                                     OR

                                                                              O

                                                                           ║

     a) Convert C6H5CHO to C6H5CH═CH----C--- C6H5
     b) Compound X with molecular formula C9H10O forms a semicarbazone and give negative 

          Tollen,s reagent  and Iodoform tests. Upon Clemenson reduction it gives n-propyl benzene. 

           Deduce structure of X and write the reactions involved.                                        [5]       
     Analytical test of Acid radicals :

    A.  The following groups are preliminary tested with Dilute H2SO4 

          CO3 2-- , SO3 2-- ,   S2-- ,    NO2---
B. The following groups are preliminary tested with Conc H2SO4 

             Cl-- , Br-- , I--- , NO3-- , C2O4 2-- 
     Preliminary Test for acid radicals;

    Take a small quantity of sample and add dilute H2SO4  ( Do not heat) . Gas is evolved.

    Now identify the gas as per the following :

	           OBSERVATIONS
	   INFERENCE
	   RADICAL

	1. Colourless,odourless gas with brisk effervescence, turns 

Lime water milky.


	    CO2 gas
	CO3  2---

	2. Colourless gas, pungent smell

Add Sulphuric acid and K2Cr2O7
	Green colour ; SO2
	SO32--

	3.Colourless gas with smell like

Rotten eggs , Add Pb(CH3COO)2
	 H2S gas
	S2 ---

	4. Reddish brown gas,pungent smell . Add FeSO4 solution
	Black  colour ; NO2 gas
	NO2 ---

	
	
	


Confirmation of SO3 2—
	          Experiment 
	        Observation

	1. BaCl2 test

Aqueous solution and add BaCl2 . Filter white ppt

To a portion of ppt add dil. HCl

2. KMnO4 test

To a 2nd part of the ppt. add few drops of Sulphuric

Acid and KMnO4 . ( Remember ppt is to be added to KMnO4) 

3. K2Cr2O7 test

Aqueous solution and add dil H2SO4 + K2Cr2O7
	 White ppt
  The ppt dissolves with the evolution of SO2
Pink colour of KMnO4 is discharged.

      Green colour is obtained.


      Confirmation of S2--- 
	  Experiment
	       Observation

	1. Sod. Nitropruside test

Aqueous solution and add sod.nitropruside solution

  2.Lead acetate test 

Aqueous solution and add lead acetate solution

2. Cadmium carbonate test

 Aqueous solution and add cadmium carbonate soln,
	 Purple or violet colouration

   A black ppt is obtained.

          A yellow ppt is obtained


    Confirmation of NO2 –
	  Experiment 
	   Observation

	1. Ferrous sulphate test

Aqueous solution + dil acetic acid + FeSO4 soln.

   2. KI solution + starch

 . Aqueous solution + few drops of dil H2SO4 +

   Few drops of KI solution. Now the whole 

  Mixture is added to starch solution.

  3. Di-phenyl amine test
    Aqueous solution + few drops of Di-phenyl 

    solution
	   A dark brown or black colour

  Starch becomes blue.

  A deep blue colour observed


	


        Analytical test for acid radicals :

This test is performed as follows:

Take small amount of sample and add conc H2SO4 and do the following observations

You can simply heat the compound if necessary

	Observations
	        Inference


	

	1 Colourlessgas,pungent smell

 Now add NH4OH 

2.Reddish brown vapour with

Pungent smell

Vapour turns yellow with starch solution

3. Deep violet vapours with pungent smell 

The vapour turns starch soln

Blue

3. Reddish brown gas with 

Pungent smell

This gas turns FeSO4 black


	  White fumes ; HCl gas 

   Yellow vapour , Br2 gas 

  Iodine vapours 

    NO2 gas 
	Cl--- ion may be

 Br – ion may be

I --- ion may be

  May be NO3 ---


Confirmatory test for Cl – ion:

	          Experiment
	   Observations

	1. AgNO3 test 

 Small sample + Nitric acid dil and boil and cool

Now add AgNO3 soln

2. MnO2 test 

Heat a pinch of salt with conc sulphuric acid and

MnO2 

3. Chromyl chloride test

Mix K2Cr2O7 with salt and conc sulphuric acid

And heat it .

 With the vapour add NaOH and with the yellow

Solution add dil.acetic acid and lead acetate.
	    White ppt is formed ; add NH4OH

  Ppt dissolves

   Greenish yellow gas; add starch iodide

  It turns blue

        Brown red vapour appears

    Yellow ppt is formed




    Confirmation of Br – ion

	 Experiment 
	  Observation

	1. AgNO3 test

Acidify the sample with dil nitric acid,boil cool and

Add AgNO3 soln

2. MNO2 test

    Heat a pinch of salt with MnO2 and conc H2SO4 

3. Chlorine water test

 Sample solution + dil HCl and now add CS2 soln

 Again add chlorine water . Shake the soln well


	Light yellow ppt 

Add NH4OH ; ppt is partially

Soluble

Yellowish brown vapour

It turns paper yellow

 CS2 layer turns orange




    Confirmation of I --- ion 

	Experiment 
	  Observation

	1. AgNO3 test

Acidify the sample with dil nitric acid,boil cool and

Add AgNO3 soln

2. MNO2 test

    Heat a pinch of salt with MnO2 and conc H2SO4 

3. Chlorine water test

 Sample solution + dil HCl and now add CS2 soln

 Again add chlorine water . Shake the soln well


	yellow ppt 

Add NH4OH ; ppt is not

Soluble

Violet vapour

It turns paper blue

 CS2 layer turns violet




     Confirmation of NO3 –  ion      

	EXPERIMENT
	      Observation



	1. Copper chips test

Sample + Cu chips + Conc H2SO4  

2. Ring test

Aq. Solution + FeSO4 solution and pour conc

Sulphuric acid along side the test tube

3. Di-phenylamine test :

Aqueous solution + few drops of Di-phenylamine solution
	  Dark brown fumes of NO2
 A dark brown ring at the junction of the layers is formed

    A deep blue colouration is formed


      P block 

1, Arrange the following

  a) Increasing order of thermal stability : HOCl , HClO2, HClO3, HClO4
 b) Increasing oxidizing power : HOCl , HClO2, HClO3, HClO4
c)  Increasing acid strength : HOF , HOCl , HOBr , HOI

2. Which one is most basic in nature – F--  , Cl-- , Br-- , I—   ?

3. Xenon forms maximum compounds as compared to any other noble gas – why?

4. Inter-halogens are highly reactive compounds – explain.

5. Write the following reactions 
    a) XeF4 + H2O 

    b) Xe + F2  

   c) XeF6 + SbF5  


6. Draw the molecular structure of the following compounds:

   a) XeF2 b) XeO2F2 c) XeOF4

7. Complete the following equations :

   A) CuSO4 +  KI 

   B) Cl2  + NaOH 
   C) NH3 + NaOCl 
  
D) I2  + HNO3  

8. Explain the principle involved  in the preparation of nitric acid by Ostwald process.

9. How phosphine can be prepared in the laboratory ?

    How phosphine catches fire though it is not inflammable ?

    What is Holme,s signal ?

10. HF can not be stored in glass bottles – why?


11. Explain the following :

      a) SF6 is not hydrolysed but SF4 is hydrolysed very easily.

     b) All the bonds of  O3 are not same.

    c) SO 3 can act as Lewis acid .

    d) SF6 is known but not SCl6 .

    e) Bleaching property of SO2 is not permanent.

    f) The bond angle of hydrides of group 16 elements decreases gradually.

   g) H2S act as oxidizing agent whereas SO2 act both as oxidizing and reducing agent.

   h) Elemental nitrogen exists as N2 whereas phosphorus exists as P4 .

   i) HNO2 is available but not HPO2 .

  j) PCl5 is ionic in solid state.

  k) All the oxyacids of phosphorus have nearly the same strength.

 l)  PF3 forms numerous complexes but not NF3 does not.

m) NF3 is an exothermic compound but NCl3 is an endothermic compound.

n) The bond length of N—N is much more than expected in N2O4.

o) Elements of group 15 can form mainly covalent compounds but not ionic compounds.

p) BiF5 is not known but AsF5 is known.

q) HNO3 is an oxidizing agent but not H3PO4. 

Prepared by:

Name
JNANAPRIYA GOSWAMI

Email
jnanapriya.goswami172@gmail.com

Phone No.

9759795213

-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

